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KEEUTOMREIZDONTIE, THREHFLORRTHY
FREXSKREDERGERELTERASNTLEE Ao

X £ 5 = BEt i
A HT 292 295 587 310
FaET 815 343 1,158 868
HXET 121 152 273 139
FRHT 16 19 35 20
EHT 132 129 261 138
[m] BT 12 7 19 11
ERHET 182 215 397 210
L 317 368 685 340
NEHT 285 264 549 276
= HT 423 423 846 442
AHT 521 530 1,051 530
=T 272 297 569 281
FmET 96 117 213 103
rh T 116 144 260 130
SRHET 123 116 239 128
SRET 249 285 534 268
pd:) 60 54 114 57
FRfT Al 93 164 99
FHET 129 147 276 152
JCHET 59 57 116 68
AE 17 16 33 16
=k 11 14 25 9
2y 110 113 223 110
B 58 55 113 46
M 29 26 55 22
PN 15 21 36 13
ITE 59 66 125 50
BOH 106 111 217 96
Bi# 85 108 193 96
nBEF 35 29 64 30
2R 46 51 97 47
E 226 229 455 194
=1 5,088 4,894 9,982 5,299




